

# On the Order of Approximation in the Random Central Limit Theorem for m-dependent Random Variables

# B.L.S. Prakasa Rao and M. Sreehari CR Rao Advanced Institute of Mathematics, Statistics and Computer Science, Hyderabad, 500046, India and

### 6-B, Vrundavan Park, New Sama Road, Vadodara, 390024, India

Abstract : We consider a random number  $N_n$  of *m*-dependent random variables  $X_k$  with a common distribution and the partial sums  $S_{N_n} = \sum_{j=1}^{N_n} X_j$ , where the random variable  $N_n$  is independent of the sequence of random variables  $\{X_k, k \ge 1\}$  for every  $n \ge 1$ . Under certain conditions on the random variables  $X_k$  and  $N_n$ , we obtain the limit distribution of the sequence  $S_{N_n}$  and the corresponding rate of convergence after suitable normalization.

**Keywords:** Random central limit theorem; *m*-dependent random variables; Berry-Esseen type bound; Approximation.

AMS Subject Classification: 60F05.

#### **1** Introduction

Limit theorems for random sums have been studied for about 70 years now. In their book "Random Summation" Gnedenko and Korolev (1996) discussed most of the limit theoretic results concerning random sums of independent random variables (r.v.s) such as random central limit theorem and their importance in various disciplines such as financial mathematics and insurance. The order of approximation is a topic of interest in statistics and initial work in this direction was done by Tomko (1971), Sreehari (1975), and Landers and Rogge (1976, 1988) among others and the problem and its variants appear to be of interest even now (see, Barbour and Xia (2006) and Sunklodas

(2014) and the references therein).

Investigation of the random central limit theorem for various types of dependent r.v.s has been going on simultaneously and early results can be found in Billingsley (1968), Prakasa Rao (1969) and Sreehari (1968) and the problem is still getting the attention of research workers(see, for example Shang (2012) and Islak (2013)). The order of approximation in the random central limit theorem for certain types of dependent r.v.s has also received some attention (see Prakasa Rao (1974, 1975)). The aim of this paper is to investigate the order of approximation in the random central limit theorem for central limit theorem for a sequence of stationary *m*-dependent r.v.s.

Let the sequence  $\{X_n\}$  be a stationary sequence of *m*-dependent r.v.s with  $E(X_1) = \mu$ ,  $V(X_1) = E(X_1 - \mu)^2 = \sigma^2 < \infty$ ;  $Cov(X_1, X_{1+j}) = a_j$  and let  $\sigma^2 + 2\sum_{j=1}^m a_j > 0$ . Then, it is known (see Diananda (1955)) that

(1. 1) 
$$\frac{S_n - E(S_n)}{\sqrt{V(S_n)}} \xrightarrow{D} Z_1$$

as  $n \to \infty$ , where  $Z_1$  is the standard normal r.v. Let the sequence  $\{N_n\}$  be a sequence of non-negative integer valued r.v.s such that the r.v.  $N_n$  is independent of the sequence  $\{X_k\}$  for every  $n \ge 1$  and such that the r.v.  $N_n$ , properly normalized, converges in distribution to a r.v.  $Z_2$  defined in Section 2. We prove that

(1. 2) 
$$\frac{S_{N_n} - E(S_{N_n})}{\sqrt{V(S_{N_n})}} \xrightarrow{D} Z^*$$

as  $n \to \infty$  where  $Z^*$  is a mixture of  $Z_1$  and  $Z_2$  and also obtain the rate of convergence of this limit. It will be noted that, if  $Z_2$  is also a standard normal r.v., then  $Z^*$  is also standard normal and marginally different from the limit r.v. given in Işlak (2013).

In Section 2, we give details of the assumptions made and prove some lemmas. The main result is given in Section 3.

## 2 Assumptions and Lemmas

For the sequence of r.v.s  $\{X_k\}$ , we assume that  $\beta^2 = \sigma^2 + 2\sum_{j=1}^m a_j > 0$ . It is easy to check that (see Işlak (2013))

(2. 1) 
$$V(S_n) = n\sigma^2 + 2n\sum_{j=1}^m a_j I(n \ge j+1) - 2\sum_{j=1}^m ja_j I(n \ge j+1).$$

where I(A) denotes the indicator function of the set A. Observe that, for n > m,

$$V(S_n) = n\sigma^2 + 2n\sum_{j=1}^m a_j - 2\sum_{j=1}^m ja_j = n\beta^2(n),$$

say, and that  $\beta^2(n) \to \beta^2$  as  $n \to \infty$ .

We now recall a result on the rate of convergence in the limit theorem given in (1. 1)

**Theorem 2.1** (Chen and Shao, 2004) If  $E|X_1|^{2+\delta} < \infty$  for some  $0 < \delta \leq 1$ , then

$$\sup_{x} \left| P(S_n - ES_n \le x\sqrt{V(S_n)}) - \Phi(x) \right| \le \frac{75(10m+1)^{1+\delta} nE|X_1|^{2+\delta}}{[n\sigma^2 + 2n\sum_{j=1}^m a_j - 2\sum_{j=1}^m ja_j]^{1+\delta/2}}.$$

We assume that  $\frac{EN_n}{n} \to \nu > 0$  as  $n \to \infty$  and  $\frac{V(N_n)}{n} \to \tau^2 < \infty$  as  $n \to \infty$  and that, for large n,

(2. 2) 
$$\sup_{x} \left| P(N_n - EN_n \le x\sqrt{V(N_n)}) - G(x) \right| \le \epsilon_n$$

where G(.) is a continuous distribution function (d.f.) satisfying the condition that there exists a constant C > 0 such that

$$\sup_{x} |G(x+y) - G(x)| < Cy, y > 0$$

and  $\epsilon_n \to 0$  as  $n \to \infty$ . In view of (2. 2) and the assumptions regarding  $E(N_n)$  and  $V(N_n)$ 

(2. 3) 
$$\frac{N_n - EN_n}{V(N_n)} \xrightarrow{P} 0$$

as  $n \to \infty$ . Furthermore, we have the following result concerning  $V(S_{N_n})$ .

**Lemma 2.2** Let  $p_{n,k} = P(N_n = k), k = 0, 1, \dots$  Under the conditions stated above,

$$V(S_{N_n}) = E(N_n) \left( \sigma^2 + 2\sum_{j=1}^m a_j \right) - 2\sum_{j=1}^m j a_j + \mu^2 V(N_n) + \alpha_n(m)$$

where

$$\alpha_n(m) = \sum_{k=0}^m 2kp_{n,k} \sum_{j=1}^m a_j \left\{ I(k \ge j+1) - 1 \right\} - \sum_{k=0}^m 2p_{n,k} \sum_{j=1}^m ja_j \left\{ I(k \ge j+1) - 1 \right\}.$$

Proof : Note that

$$V(S_{N_n}) = E(V(S_{N_n}|N_n)) + V(E(S_{N_n}|N_n))$$

$$=\sum_{k=0}^{\infty} p_{n,k} \left[ k \left\{ \sigma^2 + 2\sum_{j=1}^m a_j I(k \ge j+1) \right\} - 2\sum_{j=1}^m j a_j I(k \ge j+1) \right] + V(\mu N_n).$$

Note that, for  $k > m \ge j$ ,  $I(k \ge j + 1) = 1$ , and we have

$$V(S_{N_n}) = \sigma^2 E N_n + \mu^2 V(N_n) + 2\sum_{k=0}^m k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^m a_j I(k \ge j+1) + 2\sum_{k=m+1}^\infty k p_{n,k} \sum_{j=1}^\infty k p_{$$

$$-2\sum_{k=0}^{m} p_{n,k} \sum_{j=1}^{m} j a_j I(k \ge j+1) - 2\sum_{k=m+1}^{\infty} p_{n,k} \sum_{j=1}^{m} j a_j$$

$$= EN_n \left[ \sigma^2 + 2\sum_{j=1}^m a_j \right] - 2\sum_{j=1}^m ja_j + \mu^2 V(N_n) + \alpha_n(m)$$

where

$$\alpha_n(m) = 2\sum_{k=0}^m k p_{n,k} \sum_{j=1}^m a_j (I(k \ge j+1) - 1) - 2\sum_{k=0}^m p_{n,k} \sum_{j=1}^m j a_j (I(k \ge j+1) - 1).$$

Remarks : Observe that the sequence  $|\alpha_n(m)|$  is bounded in n and hence  $\frac{\alpha_n(m)}{n} \to 0$  as  $n \to \infty$ .

We now prove two lemmas which are of independent interest.

Lemma 2.3 Let U = V + tW,  $t \in R$  and G be a d.f. Then, for all  $z \in R$  and  $\delta > 0$ ,  $|P(U \leq z) - G(z)| < \sup_{x} |P(V \leq x) - G(x)| + \sup_{x} |G(x) - G(x + \delta t)| + P(|W| > \delta).$ Proof: Let t > 0. Then, for any  $\delta > 0$ ,

$$P(U \le z) \le P(U \le z, |W| \le \delta) + P(|W| > \delta)$$
$$\le P(V \le z + t\delta) + P(|W| > \delta).$$

Then, for all  $z \in R$ ,

(2. 4)  

$$P(U \le z) - G(z) \le |P(V \le z + t\delta) - G(z + t\delta)| + |G(z + t\delta) - G(z)| + P(|W| > \delta)$$

$$\le \sup_{x} |P(V \le x) - G(x)| + |G(z + t\delta) - G(z)| + P(|W| > \delta).$$

Again

$$P(U \le z) \ge P(U \le z, |W| \le \delta)$$
  
 
$$\ge P(V \le z - t\delta) - P(|W| > \delta).$$

Then, for all  $z \in R$ ,

(2.5)

$$G(z) - P(U \le z) \le \sup_{x} |P(V \le x) - G(x)| + |G(z - t\delta) - G(z)| + P(|W| > \delta).$$

From the inequalities (2.4) and (2.5), we get the required result for t > 0 and, on similar lines, the inequalities can be checked for  $t \leq 0$  completing the proof of the lemma.

**Lemma 2.4** Let  $U_n$  and U be r.v.s with the d.f. H(x) of U satisfying the condition that there exists a constant  $\alpha > 0$  such that

$$\sup_{x} |H(x+\theta) - H(x)| \le \alpha\theta, \theta > 0$$

and V be a r.v. independent of r.v.s  $U_n$  and U with  $E|V| < \infty$ . Let  $g : R \to R$ . Then, for any constant c and  $\delta > 0$ , and, for all  $z \in R$ 

$$|P(U_n + V g(U_n) \le z) - P(U + cV \le z)|$$
  
$$\le \alpha \delta E|V| + \sup_x |P(U_n \le x) - P(U \le x)| + P(|g(U_n) - c| > \delta).$$

Proof : Denote the d.f. of V by H. Then

 $P(U_n + Vg(U_n) \le z) - P(U + cV \le z) = \int \left[ P(U_n + vg(U_n) \le z) - P(U + cv \le z) \right] dH(v)$ (2. 6)

Suppose v > 0. Then, for  $\delta > 0$ ,

$$P(U_n + v \ g(U_n) \le z) \le P(U_n + v \ g(U_n) \le z, |g(U_n) - c| \le \delta) + P(|g(U_n) - c| > \delta) \le P(U_n \le z - v(c - \delta)) + P(|g(U_n) - c| > \delta).$$

Hence

$$P(U_n + v \ g(U_n) \le z) - P(U + cv \le z) \le |P(U_n + vc \le z + v\delta) - P(U + vc \le z + v\delta)|$$
$$+ |P(U + vc \le z + v\delta) - P(U + vc \le z)|$$
$$+ P(|g(U_n) - c| > \delta).$$

Hence, for v > 0, there exists a constant  $\alpha > 0$  such that

$$P(U_n + v \ g(U_n) \le z) - P(U + cv \le z) \le \sup_x |P(U_n + cv \le x) - P(U + cv \le x)| + \alpha v\delta + P(|g(U_n) - c| > \delta).$$

Similarly we get that

$$P(U_n + v \ g(U_n) \le z) - P(U + cv \le z) \ge -\sup_x |P(U_n + vc \le x) - P(U + vc \le x)| -\alpha v\delta - P(|g(U_n) - c| > \delta)$$

so that, for all v > 0,

$$|P(U_n + vg(U_n) \le z) - P(U + cv \le z)| \le \sup_x |P(U_n + cv \le x) - P(U + cv \le x)| + \alpha v\delta + P(|g(U_n) - c| > \delta).$$

Similar arguments will prove that the above inequalities holds with  $-v\delta$  in place of  $v\delta$  for  $v \leq 0$ . Then, from (2.6), it follows that

$$|P(U_n + Vg(U_n) \le z) - P(U + cV \le z)| \le \sup_x |P(U_n \le x) - P(U \le x)| + \alpha \delta E|V| + P(|g(U_n) - c| > \delta).$$

# 3 Main Result

Before we state and prove the main result, we need to introduce some notation.

For any two random variables U and V, let

$$d_K(U,V) = \sup_x |P(U \le x) - P(V \le x)|$$

denote the Kolmogorov distance between the d.f.s of U and V. Define

$$T_n = \frac{S_{N_n} - ES_{N_n}}{\sqrt{V(S_{N_n})}} = \frac{S_{N_n} - \mu N_n}{\sqrt{V(S_{N_n})}} + \frac{(N_n - EN_n)\mu}{\sqrt{V(S_{N_n})}}$$

and

$$T_n(Z_1) = \sqrt{\frac{N_n}{V(S_{N_n})}} \beta(N_n) Z_1 + \frac{(N_n - EN_n)\mu}{\sqrt{V(S_{N_n})}}$$

where  $Z_1$  is a N(0, 1) r.v. independent of  $N_n$ . Furthermore, define

$$T'_{n}(Z_{1}) = \sqrt{\frac{N_{n}}{V(S_{N_{n}})}}\beta Z_{1} + \frac{(N_{n} - EN_{n})\mu}{\sqrt{V(S_{N_{n}})}}$$

and

$$T(Z_1, Z_2) = \frac{\mu\tau}{\sqrt{\nu\beta^2 + \mu^2\tau^2}} \left[\frac{\beta\sqrt{\nu}}{\mu\tau}Z_1 + Z_2\right]$$

where  $Z_2$  follows the d.f. G given at (2. 2) and is independent of  $Z_1$ . The r.v.  $T(Z_1, Z_2)$  is the limit r.v.  $Z^*$  in (1. 2).

In the following discussion, C with or without subscript will denote a positive constant.

**Theorem 3.1** Let  $\{X_n\}$  be a stationary sequence of m-dependent r.v.s with  $EX_1 = \mu$ ,  $V(X_1) = \sigma^2$ ,  $Cov(X_1, X_{1+j}) = a_j$ ,  $E|X_1|^{2+\delta} < \infty$  for some  $\delta > 0$ . Let  $\{N_n\}$  be a sequence of non-negative integer valued r.v.s such that  $N_n$  is independent of  $\{X_k\}$  for every  $n \ge 1$  and satisfying (2. 2). Let  $0 < \theta < 1$  and  $\delta_n = n^{-\theta}$  be a sequence of

positive numbers. Then, there exists a constant C > 0, such that, for n large,

$$d_{K}(T_{n}, T(Z_{1}, Z_{2})) = \sup_{x} \left| P\left(\frac{S_{N_{n}} - E(S_{N_{n}})}{\sqrt{V(S_{N_{n}})}} \leq x\right) - P(T(Z_{1}, Z_{2}) \leq x) \right|$$
  
$$\leq d_{K}\left(\frac{N_{n} - EN_{n}}{\sqrt{V(N_{n})}}, Z_{2}\right) + Cn^{-\min(\theta, \delta/2)}$$
  
$$+ P\left(\left|\sqrt{\frac{N_{n}}{V(S_{N_{n}})}} - \frac{\sqrt{\nu}}{\sqrt{\nu\beta^{2} + \mu^{2}\tau^{2}}}\right| > \delta_{n}\right).$$

Proof : We obtain upper bounds for  $d_K(T_n, T_n(Z_1))$ ,  $d_K(T'_n(Z_1), T(Z_1, Z_2))$  and then use the second estimate to obtain an upper bound for the distance  $d_K(T_n(Z_1), T(Z_1, Z_2))$ . Note that

$$T_n = \frac{S_{N_n} - \mu N_n}{\sqrt{V(S_{N_n})}} + \frac{(N_n - EN_n)\mu}{\sqrt{V(N_n)}} \sqrt{\frac{V(N_n)}{V(S_{N_n})}}.$$

Let  $B_n = \{|N_n - n\nu| \le n\nu/2\}$  and  $B'_n$  denote its compliment. Then

$$d_K(T_n, T_n(Z_1)) \le P(B'_n) + \sum_{k \in B_n} p_{n,k} \sup_x |P(T_n \le x | N_n = k) - P(T_n(Z_1) \le x | N_n = k)|$$

$$= P(B'_n) + \sum_{k \in B_n} p_{n,k} \sup_x \left| P\left(\frac{S_k - k\mu}{\beta(k)\sqrt{k}} \le \frac{1}{\beta(k)}\sqrt{\frac{V(S_{N_n})}{k}} \left\{ x - \frac{(k - EN_n)\mu}{\sqrt{V(S_{N_n})}} \right\} \right) \right|$$
$$-P\left(Z_1 \le \frac{1}{\beta(k)}\sqrt{\frac{V(S_{N_n})}{k}} \left\{ x - \frac{(k - EN_n)\mu}{\sqrt{V(S_{N_n})}} \right\} \right)$$
$$\le P(B'_n) + \sum_{k \in B_n} p_{n,k} \sup_u \left| P\left(\frac{S_k - k\mu}{\beta(k)\sqrt{k}} \le u\right) - P(Z_1 \le u) \right|.$$

Then, by Chebyshev's inequality and bound given in Theorem 2.1, it follows that, for n sufficiently large

(3. 1) 
$$d_K(T_n, T_n(Z_1)) \le \frac{4V(N_n)}{(EN_n)^2} + \sum_{k>EN_n/2} p_{n,k} \frac{C_1 kE |X_1|^{2+\delta}}{(\sqrt{k\beta(k)})^{2+\delta}} < \frac{C_2}{n^{\delta/2}}.$$

Next we estimate  $d_K(T'_n(Z_1), T(Z_1, Z_2))$ . It can be checked that

$$\frac{N_n}{V(S_{N_n})} \xrightarrow{P} \frac{\nu}{\nu\beta^2 + \mu^2\tau^2}$$

as  $n \to \infty$ . Furthermore, since  $\frac{V(N_n)}{V(S_{N_n})} \to \frac{\tau^2}{\nu\beta^2 + \mu^2\tau^2}$  as  $n \to \infty$ ,

(3. 2) 
$$\frac{N_n - EN_n}{\sqrt{V(N_n)}} \frac{\mu \sqrt{V(N_n)}}{\sqrt{V(S_{N_n})}} \xrightarrow{D} \frac{\mu \tau}{\sqrt{\nu \beta^2 + \mu^2 \tau^2}} Z_2$$

as  $n \to \infty$ . We use the Lemma 2.4 with  $U_n = \frac{(N_n - EN_n)\mu}{\sqrt{V(S_{N_n})}}$ ,  $V = Z_1$ , and  $g(U_n) = \beta \sqrt{\frac{N_n}{V(S_{N_n})}}$  to get that

$$(3. 3) \qquad d_K(T'_n(Z_1), T(Z_1, Z_2)) \le P\left(\left|\sqrt{\frac{N_n}{V(S_{N_n})}} - \sqrt{\frac{\nu}{\nu\beta^2 + \mu^2\tau^2}}\right| > \delta_n\right)$$

Finally, we estimate  $d_K(T_n(Z_1), T(Z_1, Z_2))$ . Observe that

$$T_n(Z_1) - T'_n(Z_1) = Z_1 \sqrt{\frac{N_n}{V(S_{N_n})}} (\beta(N_n) - \beta).$$

and

(3. 4) 
$$\sqrt{N_n}(\beta(N_n) - \beta) = -2\frac{\sum_{j=1}^m ja_j}{\sqrt{n}} \frac{\sqrt{n}}{\sqrt{N_n}[\beta(N_n) + \beta]} \xrightarrow{P} 0$$

because  $\frac{N_n}{n} \xrightarrow{P} \nu$  and  $\beta(N_n) \xrightarrow{P} \beta$  as  $n \to \infty$ . Consider

$$P\left(\left|\sqrt{\frac{N_n}{V(S_{N_n})}}(\beta(N_n) - \beta)\right| > \delta_n\right) \le P\left(B'_n\right) + P\left(B_n; \frac{C_3}{\sqrt{N_n}[\beta(N_n) + \beta]} > \delta_n\sqrt{V(S_{N_n})}\right)$$
$$= P(B'_n) + P\left(B_n; N_n(\beta(N_n) + \beta)^2 < \frac{C_4}{\delta_n^2 V(S_{N_N})}\right)$$
$$\le P(B'_n) + P\left(\frac{n\nu}{2} \le N_n \le \frac{3n\nu}{2}; N_n < C_5 n^{2\theta - 1}\right)$$
$$= P(B'_n) < \frac{C_6}{n}$$
(3.5)

because the second probability bound above is zero for  $0 < \theta < 1$ . Consider

$$d_K(T_n(Z_1), T(Z_1, Z_2)) = \int_{-\infty}^{\infty} \sup_x |P(T_n(z) \le x) - P(T(z, Z_2) \le x)| \, d\Phi(z)$$

$$= \int_{-\infty}^{\infty} \sup_{x} \left| P\left(T'_n(z) + z\sqrt{\frac{N_n}{V(S_{N_n})}}(\beta(N_n) - \beta) \le x)\right) - P(T(z, Z_2) \le x) \right| d\Phi(z).$$

Using the Lemma 2.3 with  $V = T'_n(z), t = z, W = \sqrt{\frac{N_n}{V(S_{N_n})}} (\beta(N_n) - \beta)$ , and (3.5), it follows that

$$d_{K}(T_{n}(Z_{1}), T(Z_{1}, Z_{2})) \leq P\left(\left|\sqrt{\frac{N_{n}}{V(S_{N_{n}})}}(\beta(N_{n}) - \beta)\right| > \delta_{n}\right)$$
$$+ \int_{-\infty}^{\infty} [\sup_{x} |P(T_{n}'(z) \leq x) - P(T(z, Z_{2}) \leq x)|] d\Phi(z)$$
$$+ \int_{-\infty}^{\infty} \sup_{x} |P(T(z, Z_{2}) \leq x) - P(T(z, Z_{2}) \leq x + \delta_{n}z)| d\Phi(z)$$

$$\leq \sup_{x} |P(T'_{n}(Z_{1}) \leq x) - P(T(Z_{1}, Z_{2}) \leq x)| + \frac{\sqrt{\nu\beta^{2} + \mu^{2}\tau^{2}}}{\mu\tau} \delta_{n} E|Z_{1}| + \frac{C_{7}}{n}.$$

Using (3.3), it follows that

$$d_{K}(T_{n}(Z_{1}), T(Z_{1}, Z_{2})) \leq \frac{C_{7}}{n} + \alpha \delta_{n} E|Z_{1}| + \frac{\sqrt{\nu\beta^{2} + \mu^{2}\tau^{2}}}{\mu\tau} \delta_{n} E|Z_{1}|$$

$$+ \sup_{x} \left| P\left(\frac{N_{n} - EN_{n}}{\sqrt{V(N_{n})}} \leq x\right) - P(Z_{2} \leq x) \right|$$

$$(3. 6) \qquad + P\left( \left| \sqrt{\frac{N_{n}}{V(S_{N_{n}})}} - \sqrt{\frac{\nu}{\nu\beta^{2} + \mu^{2}\tau^{2}}} \right| > \delta_{n} \right).$$

Thus, from (3. 1) and (3. 6), we get that

$$d_K(T_n, T(Z_1, Z_2)) \le d_K \left(\frac{N_n - EN_n}{\sqrt{V(N_n)}}, Z_2\right) + C_8 n^{-\delta/2} + C_9 \delta_n$$
$$+ P\left(\left|\sqrt{\frac{N_n}{V(S_{N_n})}} - \sqrt{\frac{\nu}{\nu\beta^2 + \mu^2\tau^2}}\right| > \delta_n\right).$$

Hence

$$(3. 7) d_K(T_n, Z^*) < \epsilon_n + C_{10} n^{-\min(\theta, \delta/2)} + P\left( \left| \sqrt{\frac{N_n}{V(S_{N_n})}} - \sqrt{\frac{\nu}{\nu\beta^2 + \mu^2 \tau^2}} \right| > \delta_n \right)$$

where  $\epsilon_n$  is given in the equation (2.2).

**Remarks :1.** Islak (2013) proved the random central limit theorem part of the above theorem for the particular case when  $N_n$  is the sum of n independent non-negative integer-valued r.v.s with a common distribution having finite variance  $\tau^2$ . In that case,  $\epsilon_n = n^{-1/2}$ .

2. Shang (2012) proved the random central limit theorem for stationary *m*-dependent variables. Shang's condition on the random index  $N_n$  is weaker than ours but we do not need the maximal inequality condition that Shang (2013) assumed. Incidentally, some of the questions raised by Shang (2013) in the concluding remarks are already answered in Sreehari (1968).

Acknowledgement: Work of the first author was supported under the scheme "Ramanujan Chair Professor" by grants from the Ministry of Statistics and Programme Implementation, Government of India (M 12012/15(170)/2008-SSD dated 8/9/09), the Government of Andhra Pradesh, India (6292/Plg.XVIII dated 17/1/08) and the Department of Science and Technology, Government of India (SR/S4/MS:516/07 dated 21/4/08) at the CR Rao Advanced Institute of Mathematics, Statistics and Computer Science, Hyderabad, India.

#### **References** :

Barbour, A.D. and Xia, A., Normal approximation for random sums, *Adv. Appl. Prob.*, **33**, (2006) 727-750.

Billingsley, P. Convergence of Probability measures, Wiley, New York (1968).

- Chen, L.H.Y. and Shao, Q.M., Normal approximation under local dependence, Ann. Probab., **32**, (2004) 1985-2028.
- Diananda, P.H., The central limit theorem for *m*-dependent variables, *Proc. Cambridge Philos. Soc.*, **51**, 92-95.
- Gnedenko, B.V. and Korolev, V.Yu., *Random Summation: Limit Theorems and Applications*, CRC Press, Boca Raton, Fl. (1996).
- Islak , U., Asymptotic normality of random sums of *m*-dependent random variables, arXiv: 1303, 2386v[Math. PR] (2013).
- Landers, D. and Rogge, L., The exact approximation order in the central-limittheorem for random summation, Z. Wahr. verw. Gebiete., **36** (1976) 269-283.
- Landers, D. and Rogge, L., Sharp orders of convergence in the random central limit theorem, J. Approx. Theory, 53, (1988) 86-111.
- Prakasa Rao, B.L.S., Random central limit theorem for martingales, Acta. Math. Acad. Sci. Hung., 20, (1969) 217-222.
- Prakasa Rao, B.L.S., On the rate of convergence in the random central limit theorem for martingales, Bull. Acad. Polon. Sci. Ser. Sci. Math. Astronom. Phys., 22, (1974) 1255-1260.
- Prakasa Rao, B.L.S., Remarks on the rate of convergence in the random central limit theorem for mixing sequences, *Zeit. Wahr. verw. Gebiete.*, **31**, (1975) 157-160.

- Shang, Y., A central limit theorem for randomly indexed *m*-dependent random variables, *Filomat*, 26, (2012) 713-717.
- Sreehari, M., An invariance principle for random sums, *Sankhya Ser. A.*, **30**, (1968) 433-442.
- Sreehari, M., Rate of convergence in the random central limit theorem, Jl. M. S. University of Baroda, 24,(1975) 1-8.
- Sunklodas, J.K., On the normal approximation of a binomial random sum, *Lithua*nian Mathematical Journal, **54**, (2014) 356-365.
- Tomko, J., On the estimation of the remainder term in the central limit theorem for sums of random number of summands, *Theory Probab. Appl.*, **16**,(1971) 167-175.